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B.Com. DEGREE EXAMINATION, APRIL 2021 &
Supplementary/Improvement/Arrear Examinations

Sixth Semester 

Commerce 

MANAGEMENT ACCOUNTING 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions.  

1. Define Management Accounting. 
"÷©»õsø© PnUQ¯À' Áøμ¯Ö. 

2. Distinguish between Management Accounting and 
Financial Accounting. (any two) 

 ÷©»õsø© PnUQ¯¾US® {v°¯À PnUQ¯¾US® 
EÒÍ ÷ÁÖ£õkPÎÀ CμsiøÚU TÖP. 

3. State the nature of Financial Statement. 
{v{ø»U TØÔß C¯À¦PøÍ TÖP. 

4. Define Ratio Analysis. 
ÂQuõa\õμ £S¨£õ´Âß ÁøμÂ»UPn® u¸P. 

5. Bring out the Advantages of Fund Flow Statement. 
{v÷¯õmh B´Âß |ßø©PÒ u¸P. 

6. Give the meaning of Cash Flow Statement. 
öμõUP Kmh AÔUøP°ß ö£õ¸øÍ u¸P. 
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7. Define the term budget. 
ÁμÄ ö\»Ä vmh® Gß£uß ÁøμÂ»UPn® u¸P. 

8. Enumerate the steps in budgetary control. 
ÁμÄ ö\»Ä vmh® u¯õº£kzu¨£k® £iPøÍ ÂÍUSP. 

9. What are the advantages of Marginal Costing? 
©õÖ£mk AhUPÂ¯¼ß |ßø©PÒ ¯õx? 

10. What is Break even point? 
C»õ£ |mh©ØÓ ¦ÒÎ GßÓõÀ GßÚ? 

 Section B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Explain the functions of Management Accounting. 

  ÷©»õsø© PnUQ¯¼ß £oPøÍ ÂÍUSP. 

Or 

 (b) What are Advantages of Management Accounting? 

  ÷©»õsø© PnUQ¯¼ß |ßø©PÒ ¯õøÁ? 

12. (a) What is meant by analysis and interpretation of 
Financial Statements? 

  {v{ø» AÔUøP £S¨£õ´Ä ©ØÖ® ÂÍUP[PÒ 
GßÓõÀ GßÚ? 

Or 

 (b) Calculate the stock turnover ratio from the 
following: 

  Cost of goods sold Rs.65,000, 
  Sales Rs.1,00,000, 
  Average stock Rs.15,000. 

  \μUQ¸¨¦ _ÇØ] ÂQuzøuU PnUQkP. 
  AhUP ö\»Ä ¹.65,000; 
  ÂØ£øÚ ¹.1,00,000; 
  \μõ\› \μUQ¸¨¦ ¹.15,000. 



A–9657 

  

  3

13. (a) Define cash flow statement. What are its objectives? 
  öμõUP Kmh AÔUøP Áøμ¯Ö. Auß ÷|õUP[PÒ 

¯õøÁ? 

Or 
 (b) Calculate cash flow operations: 
  Net profit Rs.1,00,000; Loss on Sale of Machinery 

Rs.10,000; Depreciation on Building Rs.4,000; 
Depreciation on Machines Rs.5,000; Formation 
expenses w/off Rs.5,000; Provision for taxation 
Rs.10,000. Goodwill w/off Rs.5,000; Gain on sale of 
building Rs.8,000. 

  ö\¯ÀÁÈ öμõUPzøu PõsP: 
  {Pμ C»õ£® ¹.1,00,000;  G¢vμ® ÂØÓvÀ |mh® 

¹.10,000; Pmih ÷u´©õÚ® ¹.4,000; G¢vμ 
÷u´©õÚ® ¹.5,000; Aø©¨¦ ö\»ÄPÒ 
÷£õUöPÊu¨£mhx ¹.5,000; Á› JxURk ¹.10,000; 
|Øö£¯º ÷£õUöPÊu¨£mhx ¹.5,000; Pmih® 
ÂØÓvÀ Buõ¯® ¹.8,000. 

14. (a) What is master budget? Explain. 
  •ußø© ÁμÄ ö\»Ä vmh® GßÓõÀ GßÚ? 

ÂÍUSP. 

Or 
 (b) From the following particulars from January to 

June. Prepare production budget.  
Month: Jan Feb March April May June July 

Sales (units): 10,000 12,000 16,000 20,000 24,000 24,000 20,000 

  Finished goods equal to half the sales of next month 
will be in stock at the end of each month. Assume it 
is the company's first year of business. 

  RÌUPõq® Â£μ[PøÍU öPõsk, áÚÁ› •uÀ 
áüß Áøμ°»õÚ Põ»zxUS EØ£zv vmh® 
u¯õ›UP.  

©õu® : áÚÁ› ¤¨μÁ› ©õºa H¨μÀ ÷© áüß áüø» 

ÂØ£øÚ 
(A»SPÒ) : 10,000 12,000 16,000 20,000 24,000 24,000 20,000 

  JÆöÁõ¸ ©õu CÖv°¾® Akzu ©õu ÂØ£øÚ°À 
£õv \μUQ¸¨£õP C¸UP ÷Ásk®. C¢u Bskuõß 
{ÖÁÚzvß •uÀ Â¯õ£õμ Bsk GÚU öPõÒP. 
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15. (a) What are the limitations of Marginal Costing? 

  ©õÖ£õk AhUPÂ¯¼ß SøÓPÒ ¯õøÁ? 

Or 

 (b) Fixed cost Rs.1,00,000; P/V ratio - 20%. Calculate 
BEP. 

  {ø»a ö\»ÄPÒ ¹.1,00,000;  C»õ£ AÍÄ ÂQu® 
20%. C»õ£ |mh©ØÓ \©{ø»¨ ¦ÒÎø¯ PnUQkP. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. State the meaning and objectives of Management 
Accounting. 

 ÷©»õsø© PnUQ¯¼ß ö£õ¸Ò ©ØÖ® ÷|õUP[PøÍ 
TÖP. 

Or 

17. Following are the details of the trading activities of Arun: 
Stock velocity - 8 months; Debtors velocity - 3 months; 
Creditors velocity - 2 months; Gross profit ratio - 25%. 
Gross profit for the year Rs.4,00,000. Bills receivable 
Rs.25,000, Bills payable Rs.10,000. Closing stock is 
Rs.10,000 more than the opening stock. 

 Find out (a) Sales, (b) Debtors, (c) Creditors, (d) Closing 
stock. 

 A¸s Gß£Á›ß Â¯õ£õμ |hÁiUøPPÎß Â£μ[PÒ 
¤ßÁ¸©õÖ: 

 \μUQ¸¨¦ Ãa_ & 8 ©õu[PÒ; PhÚõÎPÒ Ãa_ & 3 ©õu[PÒ; 
PhÜ¢÷uõº Ãa_ & 2 ©õu[PÒ; ö©õzu C»õ£ ÂQu® & 25%. 
CÆÁõsiØPõÚ ö©õzu C»õ£® ¹.4,00,000. ÁμÄUS›¯ 
©õØÖa^mk ¹.25,000; ö\¾zxuØS›¯ ©õØÖa^mk 
¹.10,000; CÖv \μUQ¸¨¦ öuõhUP \μUQ¸¨ø£ Põmi¾® 
¹.10,000 AvP® GÛÀ ¤ßÁ¸ÁÚÁØøÓ PnUQkP. 

 (A)  ÂØ£øÚ,  (B) PhÚõÎPÒ,  (C) PhÜ¢÷uõº, 
(D)   CÖv \μUQ¸¨¦.  
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18. Prepare a cash flow statement, from the following 

Balance Sheet. 
Liabilities 2016 

Rs. 
 2017 

Rs. 
 Assets 2016 

Rs. 
2017 
Rs. 

Share capital 2,00,000  2,50,000  Cash 30,000 47,000

Creditors 70,000  45,000  Debtors    1,20,000 1,15,000

P & L A/c. 10,000  23,000  Stock 80,000 90,000

    Land 50,000 66,000

 2,80,000  3,18,000   2,80,000 3,18,000

 ¤ßÁ¸® C¸¨¦ {ø»U SÔ¨ø£ öPõsk öμõUP Kmh 
AÔUøP u¯õμõUS.  

ö£õÖ¨¦PÒ 
2016 
¹. 

 2017 
¹. 

 ö\õzxUPÒ 2016 
¹. 

2017 
¹. 

£[S •uÀ 2,00,000  2,50,000  öμõUP® 30,000 47,000

PhÜ¢÷uõº 70,000  45,000  PhÚõÎPÒ  1,20,000 1,15,000

C»õ£ |mh P/S 10,000  23,000  \μUQ¸¨¦ 80,000 90,000

    {»® 50,000 66,000

 2,80,000  3,18,000   2,80,000 3,18,000

19. Draw up a Flexible budget for the production at 75% and 

100%. Capacity on the basis of the following data for 50% 

activity. 

 Per unit 

(Rs.) 

Materials 100.00   

Labour 50.00 

Variable expenses (direct) 10.00 

Administrative expenses (50% fixed) 40.00 

Selling and distribution expenses (60% fixed) 50.00 

Present production 50% activity - 1000 units  
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RÌUPõq® 50% ö\¯À£õmiß Ai¨£øh°À 75% ©ØÖ® 

100% vÓß öPõsh ö|QÌÄÖ {vzvmh® u¯õ›UPÄ®. 

 J¸ A»QØS 

¹. 

‰»¨ö£õ¸Ò 100.00   

T¼ 50.00 

©õÖ® ö\»Ä (÷|μi) 10.00 

{ºÁõPa ö\»Ä (50% {ø»¯õÚx) 40.00 

ÂØ£øÚ ©ØÖ® £QºÄ ö\»Ä 

(60% {ø»¯õÚx) 
50.00 

uØ÷£õøu¯ EØ£zv (50% ö\¯À£õk) & 1000 A»SPÒ 

20. From the following particulars, compute Material 

variances. 

 (a) Material cost variance 

 (b) Material price variance and 

 (c) Material usage variance 

 Quantity of materials purchased 3000 units. 

 Value of materials purchased      Rs.9,000. 

 Standard quantity of materials required: 

 Per tonne of output  30 units 

 Standard rate of material  Rs.2.50 per unit 

 Opening stock of material  Nil 

 Closing stock of material  500 units 

 Output during the period  80 tonnes 
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 ¤ßÁ¸® Â£μ[PÎ¼¸¢x ‰»¨ö£õ¸Ò ©õÖ£õmøh 

PnUQkP. 

 (A) ‰»¨ö£õ¸Ò AhUP ÷ÁÖ£õk 

 (B) ‰»¨ö£õ¸Ò Âø» ÷ÁÖ£õk    ©ØÖ® 

 (C) ‰»¨ö£õ¸Ò £¯ß£õmk ÷ÁÖ£õk 

 ‰»¨ö£õ¸Ò öPõÒ•uÀ ö\´u AÍÄ  & 3,000 A»SPÒ 

 ‰»¨ö£õ¸Ò öPõÒ•uÀ ©v¨¦          & ¹.9,000. 

 ÷uøÁ¨£k® ‰»ö£õ¸ÒPÎß uμ AÍÄ: 

 J¸ hß EØ£zvUS ÷uøÁ¯õÚx  & 30 A»SPÒ 

 ‰»¨ö£õ¸Îß uμ ©v¨¦ & ¹.2.50 (J¸ A»QØS) 

 öuõhUP ‰»ö£õ¸Îß \μUQ¸¨¦  & JßÖªÀø» 

 CÖv ‰»ö£õ¸Ò \μUQ¸¨¦  & 500 A»SPÒ 

 A¢u Á¸hzvß EØ£zv°ß AÍÄ  & 80 hß 

———————— 
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